Data sets to accompany Nonparametric Statistics for Non-statistician

(Corder & Foreman)
Data sets author: Karey Marshall, 2007
Data Set 1.1

Rank the following scores together.
	Form A
	Form B

	81.5
	86.5

	88.5
	85.5

	77
	85.5

	68.5
	82

	91.5
	77.5

	88
	79.5

	82
	69

	86
	90

	84.5
	76


Data Set 1.2

Rank the following data together.
	Quiz 1
	Quiz 2

	9.5
	12

	10
	11.5

	6
	2.5

	4.5
	6.5

	10.5
	8


Data Set 1.3

Rank the following data together.
	Subject A
	Subject B

	502
	447

	429
	471

	480
	469

	492
	531

	438
	498

	502
	600

	485
	440

	486
	472

	449
	456


Data Set 1.4

Rank the following data together.
	A
	B

	870
	210

	830
	209

	220
	201

	333
	103

	1840
	200

	1450
	199


Data Set 1.5

Count the following observations.
	Quiz Scores

	5

	8

	5

	6

	2

	4

	2

	2

	8

	2

	4

	2

	2

	3

	7

	8

	8

	8


Data Set 1.6

Count the following observations.
	Student
	Test Form

	1
	A

	2
	B

	3
	C

	4
	B

	5
	A

	6
	A

	7
	C

	8
	A

	9
	A

	10
	B

	11
	C

	12
	C

	13
	C

	14
	A


Data Set 1.7

Count the following observations.
	School
	Students

	A Elem
	70

	B Elem
	77

	C Elem
	67

	D Elem
	70

	E Elem
	77

	F Elem
	58

	G Elem
	58

	H Elem
	76

	I Elem
	91

	J Elem
	58

	K Elem
	69

	L Elem
	61


Data Set 1.8

Count the following observations.
	Student
	Final Grade

	1
	100%

	2
	88%

	3
	73%

	4
	88%

	5
	92%

	6
	95%

	7
	70%

	8
	62%

	9
	100%

	10
	88%


Data Set 2.1
Assess the Kurtosis of the following data set. Use α = 0.05
	Student
	Test Score

	1
	81.5

	2
	88.5

	3
	77.0

	4
	68.5

	5
	91.5

	6
	88.0

	7
	82.0

	8
	86.0

	9
	84.5

	10
	86.5

	11
	85.5

	12
	85.5

	13
	82.0

	14
	77.5

	15
	79.5

	16
	68.5

	17
	90

	18
	76

	19
	79.5

	20
	86.5


Data Set 2.2

Assess the Kurtosis of the following data set. Use α = 0.05

	Student 
	Quiz

	1
	50.5

	2
	65

	3
	49

	4
	64

	5
	59

	6
	71.5

	7
	58

	8
	34

	9
	67.5

	10
	73.5

	11
	72

	12
	76.5

	13
	34

	14
	69


Data Set 2.3

Assess the Kurtosis of the following data set. Use α = 0.05
	Student 
	Quiz Score

	1
	50

	2
	87

	3
	33

	4
	64

	5
	75

	6
	85

	7
	78

	8
	34

	9
	25

	10
	75

	11
	42

	12
	82

	13
	30

	14
	72

	15
	35

	16
	50

	17
	85

	18
	77

	19
	25

	20
	31

	21
	64

	22
	73

	23
	21

	24
	34

	25
	25

	26
	79

	27
	78


Data Set 2.4

Assess the Kurtosis of the following data set. Use α = 0.05
	Student 
	Score

	1
	438

	2
	420

	3
	459

	4
	455

	5
	431

	6
	451

	7
	420

	8
	520

	9
	444

	10
	432

	11
	451

	12
	437

	13
	466

	14
	446

	15
	447

	16
	500

	17
	460

	18
	441

	19
	416

	20
	458


Data Set 2.5

Assess the Skewness of the following data set. Use α = 0.05
	Participant
	Score

	1
	64

	2
	68

	3
	89

	4
	74


	5
	54

	6
	66

	7
	56

	8
	57

	9
	55

	10
	81

	11
	64

	12
	63

	13
	65

	14
	80

	15
	84

	16
	90


Data Set 2.6

Assess the Skewness of the following data set. Use α = 0.05
	Participant
	Score

	1
	50.5

	2
	65

	3
	49

	4
	64

	5
	59

	6
	71.5

	7
	58

	8
	34

	9
	67.5

	10
	73.5

	11
	72

	12
	76.5

	13
	34

	14
	69

	15
	82

	16
	50

	17
	84.5

	18
	65.5

	19
	40

	20
	72.5

	21
	64

	22
	73

	23
	40.5

	24
	36.5

	25
	93

	26
	67.5

	27
	65

	28
	29

	29
	70

	30
	64.5


Data Set 2.7

Assess the Skewness of the following data set. Use α = 0.05
	Participant
	Score

	1
	1170

	2
	1130

	3
	3970

	4
	3760

	5
	170

	6
	500

	7
	1521

	8
	4381

	9
	673

	10
	80

	11
	1900

	12
	1300

	13
	180

	14
	33

	15
	1160

	16
	611


Data Set 2.8

Assess the Skewness of the following data set. Use α = 0.05
	Participant
	Score

	1
	8

	2
	10

	3
	12

	4
	7.5

	5
	12

	6
	12

	7
	11.5

	8
	2.5

	9
	6.5

	10
	8

	11
	8

	12
	7.5

	13
	0.5

	14
	8.5

	15
	11

	16
	9

	17
	11.5

	18
	6.5

	19
	10

	20
	10.5


Data Set 3.1

Compute the Wilcoxon Signed Rank Test for the following data. Use α = 0.05
	Pretest
	After treatment

	50
	50

	65
	88.5

	49
	77

	64
	68.5

	59
	91.5

	71.5
	88

	34
	86


	67.5
	84.5

	73.5
	86.5

	72
	85.5

	34
	82

	69
	77.5

	82
	82


Data Set 3.2

Compute the Wilcoxon Signed Rank Test for the following data. Use α = 0.10
	Before update
	After update

	376
	453

	407
	405

	410
	453

	416
	481

	421
	573

	421
	425

	433
	472

	433
	478

	439
	460

	439
	460

	449
	463

	453
	489

	454
	517

	460
	453

	460
	504

	478
	582

	489
	460

	489
	469

	492
	489

	492
	509

	501
	483

	525
	460

	577
	522


Data Set 3.3

Compute the Wilcoxon Signed Rank Test for the following data. Use α = 0.05
	Initial
	Final

	495
	441

	520
	441

	403
	480

	427
	441

	458
	458

	495
	444

	540
	501

	427
	455

	411
	411

	407
	423

	540
	516


Data Set 3.4
Compute the Wilcoxon Signed Rank Test for the following data. Use α = 0.05
	Pre
	Post

	3
	6

	5
	3

	6
	2

	2
	7

	7
	9

	2
	2

	8
	1

	4
	5


Data Set 4.1

Use the Mann-Whitney U test to determine if the two sets are different. Use α = 0.05
	Treatment 1
	Treatment 2

	83
	59

	98
	55

	84
	62

	81
	50

	69
	73

	81
	61

	88
	75

	54
	63

	83
	67

	81
	62


Data Set 4.2

Use the Mann-Whitney U test to determine if the two sets are different. Use α = 0.05
	System A
	System B
	

	81
	38
	

	64
	52
	

	70
	54
	

	80
	100
	

	89
	59
	

	86
	
	

	64
	
	


Data Set 4.3

Use the Mann-Whitney U test to determine if the two sets are different. Use α = 0.05
	Before Treatment
	After Treatment

	495
	391

	317
	284

	520
	270

	432
	266

	500
	


Data Set 4.4

Use the Mann-Whitney U test to determine if the two sets are different. Use α = 0.05
	Before Treatment
	After Treatment

	15
	39

	17
	44

	53
	20

	42
	66

	50
	33

	34
	

	23
	


Data Set 5.1

Use the Friedman test to determine if the sample sets are the same. Use α = 0.10
	Student
	Method A
	Method B
	Method C

	1
	87
	63
	84

	2
	95
	52
	97

	3
	84
	50
	82

	4
	73
	76
	96

	5
	88
	52
	67


Data Set 5.2
Use the Friedman test to determine if the sample sets are the same. Use α = 0.05
	 
	A
	B
	C
	D

	1
	8
	10
	11.5
	9.5

	2
	8.5
	6.5
	8.5
	6

	3
	9.5
	8
	10
	6


	4
	7
	10.5
	9
	10

	5
	7
	8
	8
	8.5

	6
	5
	10
	4
	10

	7
	12
	6
	1.5
	8

	8
	6
	7.5
	3
	10


Data Set 5.3

Use the Friedman test to determine if the sample sets are the same. Use α = 0.05
	 
	A
	B
	C
	D

	1
	64
	44
	82
	67

	2
	63
	79
	45
	58

	3
	65
	85
	47
	85

	4
	84
	54
	95
	43

	5
	90
	78
	92
	69


Data Set 5.4

Use the Friedman test to determine if the sample sets are the same. Use α = 0.05
	 
	A
	B
	C

	1
	482
	419
	427

	2
	447
	452
	411

	3
	419
	441
	407

	4
	437
	447
	460

	5
	419
	452
	470

	6
	452
	432
	415

	7
	441
	419
	432


Data Set 6.1
Use the Kruskal-Wallis H test to determine if the sample sets are the same. Use α = 0.10
	x
	y
	z

	2
	7
	3

	3
	4
	9

	6
	0
	5

	4
	1
	

	
	8
	


Data Set 6.2

Use the Kruskal-Wallis H test to determine if the sample sets are the same. Use α = 0.05
	a
	b
	c

	80.0
	38.0
	52.8

	71.2
	37.5
	51.0

	55.5
	40.0
	46.8

	55.0
	43.0
	45.6

	
	36.0
	44.4


Data Set 6.3
Use the Kruskal-Wallis H test to determine if the sample sets are the same. Use α = 0.05
	Group 1
	Group 2
	Group 3
	Group 4

	250
	420
	500
	330

	300
	570
	660
	270

	440
	520
	600
	320

	410
	
	
	260

	510
	
	
	320

	
	
	
	260


Data Set 6.4

Use the Kruskal-Wallis H test to determine if the sample sets are the same. Use α = 0.05
	Group 1
	Group 2
	Group 3

	10
	18
	17

	21
	28
	15

	16
	23
	14


Data Set 7.1

Compute the Spearman Rank-Order Correlation Coefficient. Use α = 0.05
	x
	y

	58
	71

	46
	68

	63
	93

	44
	82

	45
	79

	47
	85


Data Set 7.2

Compute the Spearman Rank-Order Correlation Coefficient. Use α = 0.05
	A
	B

	219
	35.6

	215
	43.6

	211
	38.3

	210
	37.8

	209
	36.2

	201
	31.0

	201
	34.1

	200
	23.3

	199
	41.4


Data Set 7.3

Compute the Spearman Rank-Order Correlation Coefficient. Use α = 0.01
	A
	B

	3.5
	9.0

	4
	12.0

	5.8
	23.0

	6
	19.0

	7
	26.0

	9.8
	42.0

	7.5
	29.0

	7.2
	24.0


Data Set 7.4

Compute the Spearman Rank-Order Correlation Coefficient. Use α = 0.05
	x
	y

	10
	2.0

	17
	3.5

	21
	7.0

	28
	8.0

	16
	4.0


Data Set 7.5

Compute the Point-Biserial Correlation Coefficient. Use α = 0.05
	Student
	Gender
	Score

	1
	F
	83.5

	2
	F
	76.5

	3
	F
	7.0

	4
	F
	86.5

	5
	F
	107

	6
	F
	113

	7
	F
	78

	8
	F
	97

	9
	M
	105.5

	10
	M
	57.0

	11
	M
	65.0

	12
	M
	75.5

	13
	M
	75.0

	14
	M
	105.5


Data Set 7.6

Compute the Point-Biserial Correlation Coefficient. Use α = 0.05
	Student
	H/T
	Mass

	1
	H
	8

	2
	T
	16

	3
	T
	10

	4
	T
	11

	5
	T
	12

	6
	H
	6

	7
	H
	4

	8
	T
	7

	9
	H
	8


Data Set 7.7

Compute the Point-Biserial Correlation Coefficient. Use α = 0.01
	Participant
	Y/N
	Amount

	1
	N
	2.99

	2
	Y
	6.33

	3
	N
	3.41

	4
	Y
	6.41

	5
	N
	3.41

	6
	Y
	9.33

	7
	N
	1.74

	8
	Y
	9.33

	9
	N
	3.75

	10
	Y
	6.74


Data Set 7.8

Compute the Point-Biserial Correlation Coefficient. Use α = 0.01
	Participant
	Gender
	Weight Loss

	1
	F
	4

	2
	F
	5

	3
	M
	3

	4
	F
	2

	5
	F
	3

	6
	M
	5

	7
	F
	4

	8
	M
	8

	9
	F
	8

	10
	M
	11

	11
	F
	11

	12
	F
	4

	13
	F
	4

	14
	F
	9


Data Set 7.9

Compute the Biserial Correlation Coefficient. Use α = 0.05
	Participant
	Pass/Fail
	Years

	1
	P 
	8

	2
	F
	5

	3
	P
	12

	4
	P
	2

	5
	F
	3

	6
	F
	11

	7
	P
	3

	8
	P
	4

	9
	F
	11

	10
	F
	11


Data Set 7.10

Compute the Biserial Correlation Coefficient. Use α = 0.05
	Participant
	Pass/Fail
	Final Grade

	1
	P
	100%

	2
	F
	78%

	3
	F
	73%

	4
	P
	88%

	5
	F
	92%

	6
	P
	95%

	7
	F
	70%

	8
	F
	62%


Data Set 7.11

Compute the Biserial Correlation Coefficient. Use α = 0.01
	Participant
	Pass/Fail
	Score

	1
	P
	97

	2
	F
	81.5

	3
	P
	62

	4
	P
	119

	5
	P
	100

	6
	P
	95

	7
	F
	65

	8
	F
	59

	9
	P
	7

	10
	P
	98

	11
	F
	78.5

	12
	F
	31


Data Set 7.12

Compute the Biserial Correlation Coefficient. Use α = 0.01
	Participant
	Pass/Fail
	Score

	1
	P
	418

	2
	F
	320

	3
	P
	423

	4
	P
	426

	5
	F
	328

	6
	F
	400

	7
	F
	418

	8
	F
	404

	9
	P
	481

	10
	F
	401

	11
	F
	397

	12
	P
	499

	13
	P
	499


Data Set 8.1

Use the Chi-Square Goodness-Of-Fit Test to assess the following data. Use α = 0.05
	Dinner Choice
	Number

	Chicken
	17

	Beef
	9

	Salmon
	11

	Vegetarian
	3


Data Set 8.2

Use the Chi-Square Goodness-Of-Fit Test to assess the following data. Use α = 0.05
	Category
	Number

	A
	1

	B
	9

	C
	15

	D
	3

	E
	2


Data Set 8.3

Use the Chi-Square Goodness-Of-Fit Test to assess the following data. Use α = 0.05
	Category
	Number

	A
	32

	B
	22

	C
	8

	D
	50


Data Set 8.4

Use the Chi-Square Goodness-Of-Fit Test to assess the following data. Use α = 0.05
	Category
	Number

	A
	55

	B
	72

	C
	49

	D
	70

	E
	20

	F
	27

	G
	28


Data Set 8.5

Use the Chi-Square Test for Independence to assess the following data. Use α = 0.01
	 
	X
	Y
	Z

	A
	3
	8
	3

	B
	4
	2
	7

	C
	6
	5
	8


Data Set 8.6

Use the Chi-Square Test for Independence to assess the following data. Use α = 0.05
	 
	X
	Y
	Z

	A
	8.5
	8.5
	14

	B
	4
	10
	16

	C
	1.5
	8
	16

	D
	3
	10
	15

	E
	5.5
	10
	14


Data Set 8.7

Use the Chi-Square Test for Independence to assess the following data. Use α = 0.05
	 
	X
	Y
	Z

	A
	392
	408
	426

	B
	384
	400
	418

	C
	408
	425
	443

	D
	421
	439
	457


Data Set 8.8

Use the Chi-Square Test for Independence to assess the following data. Use α = 0.05
	 
	X
	Y
	Z

	A
	22
	40
	26

	B
	23
	25
	50

	C
	33
	40
	44

	D
	36
	29
	42


Data Set 8.9

Use the Fisher Exact Test to assess the following data. Use α = 0.05
	 
	X
	Y

	A
	3
	2

	B
	1
	4


Data Set 8.10

Use the Fisher Exact Test to assess the following data. Use α = 0.05

	 
	X
	Y

	A
	5
	1

	B
	1
	9


Data Set 8.11

Use the Fisher Exact Test to assess the following data. Use α = 0.05

	 
	X
	Y

	A
	1
	3

	B
	5
	2


Data Set 8.12

Use the Fisher Exact Test to assess the following data. Use α = 0.05

	 
	X
	Y

	A
	9
	6

	B
	7
	3


Data Set 9.1

Use the Runs Test to assess the following data. Use α = 0.05

	A

	B

	B

	B

	A

	A

	B

	B

	A

	A

	B

	B

	A


Data Set 9.2

Use the Runs Test to assess the following data. Use α = 0.05

	P

	P

	P

	P

	F

	F

	F

	F

	P

	P

	P

	P


Data Set 9.3

Use the Runs Test to assess the following data. Use α = 0.05

	P

	F

	P

	P

	F

	P

	P

	F

	P

	P

	F

	P


Data Set 9.4

Use the Runs Test to assess the following data. Use α = 0.05

	m

	f

	f

	m

	f

	f

	m

	f

	m

	m

	m

	f

	f

	f

	m

	m

	m

	f

	m

	f

	m

	f

	m

	m

	m

	f

	f

	f

	f

	m

	f

	f

	m

	f

	m

	f

	m

	f

	f

	f

	m

	m

	m

	f

	f

	f

	f


Solutions To Odd Numbered Data Sets
Data Set 1.1

	Rank
	Value

	1
	68.5

	2
	69

	3
	76

	4
	77

	5
	77.5

	6
	79.5

	7
	81.5

	8.5
	82

	8.5
	82

	10
	84.5

	11.5
	85.5

	11.5
	85.5

	13
	86

	14
	86.5

	15
	88

	16
	88.5

	17
	90

	18
	91.5


Data Set 1.3

	Rank
	Value

	1
	429

	2
	438

	3
	440

	4
	447

	5
	449

	6
	456

	7
	469

	8
	471

	9
	472

	10
	480

	11
	485

	12
	486

	13
	492

	14
	498

	15.5
	502

	15.5
	502

	16
	531

	17
	600


Data Set 1.5

	Score
	Count

	2
	6

	3
	1

	4
	2

	5
	2

	6
	1

	7
	1

	8
	5


Data Set 1.7

	Students
	Count

	58
	3

	61
	1

	67
	1

	69
	1

	70
	2

	76
	1

	77
	2

	91
	1


Data Set 2.1

	K = 
	0.289

	SEK =
	0.992

	zK=
	0.2913

	z critical
	±1.96

	Sample has passed the normality assumption at α = 0.05


Data Set 2.3

	K = 
	-1.7322

	SEK =
	0.87207

	zK=
	-1.9863

	z critical
	±1.96

	Sample has failed the normality assumption at α = 0.05


Data Set 2.5

	Sk=
	0.46087

	SESk=
	0.56431

	zSk=
	0.8167

	z critical
	±1.96

	Sample has passed the normality assumption at α = 0.05


Data Set 2.7

	Sk=
	1.22731

	SESk=
	0.56431

	zSk=
	2.1749

	z critical
	±1.96

	Sample has failed the normality assumption at α = 0.05


Data Set 3.1

T = 0.0, n = 13, p < 0.05 where ΣR+ = 66.0 and ΣR- = 0.0

Data Set 3.3

T = 15.0, n = 11, p > 0.05 where ΣR+ = 15.0 and ΣR- = 30.0

Data Set 4.1

U = 11.0, n1 = 10, n2 = 10, p < 0.05 where ΣR1 = 144.0 and ΣR2 = 66.0

Data Set 4.3

U = 1.0, n1 = 5, n2 = 4, p < 0.05 where ΣR1 = 34.0 and ΣR2 = 11.0
Data Set 5.1

Fr(2) = 4.8, p < 0.10

Wilcoxon sample contrast results using αB =0.03:

TA-B = 1.0, n = 5, p > 0.03 where ΣR+ = 1.0 and ΣR- = 14.0

TA-C = 6.5, n = 5, p > 0.03 where ΣR+ = 6.5 and ΣR- = 8.5

T B-C = 0.0, n = 5, p < 0.03 where ΣR+ = 15.0 and ΣR- = 0.0

Data Set 5.3

Fr(3) = 0.796, p > 0.05

Data Set 6.1

H(2) = 0.882, p > 0.10

Data Set 6.3

H(3) = 10.190, p < 0.05

Mann-Whitney U sample contrast results using αB =0.008:

U1-2 = 2.0, n1 = 5, n2 = 3, p > 0.008 where ΣR1 = 17.0 and ΣR2 = 19.0

U1-3 = 1.0, n1 = 5, n3 = 3, p > 0.008 where ΣR1 = 16.0 and ΣR3 = 20.0

U1-4 = 2.0, n1 = 5, n4 = 6, p > 0.008 where ΣR1 = 36.0 and ΣR4 = 30.0

U2-3 = 2.0, n2 = 3, n3 = 3, p > 0.008 where ΣR2 = 8.0 and ΣR3 = 13.0

U2-4 = 0.0, n2 = 3, n4 = 6, p > 0.008 where ΣR2 = 24.0 and ΣR4 = 21.0

U3-4 = 0.0, n3 = 3, n4 = 6, p > 0.008 where ΣR3 = 24.0 and ΣR4 = 21.0

Data Set 7.1

rs(4) = 0.3143, p < 0.05
Data Set 7.3
rs(6) = 0.9524, p > 0.05
Data Set 7.5

rpb(12) = 0.009, p > 0.05 where 
[image: image1.wmf]x

M = 80.6 and 
[image: image2.wmf]x

F = 81.1

Data Set 7.7

rpb(8) = 0.900, p < 0.01 where 
[image: image3.wmf]x

N = 3.1 and 
[image: image4.wmf]x

Y = 7.6

Data Set 7.9

rb(8) = 0.396, p < 0.05 where 
[image: image5.wmf]x

F = 8.2 and 
[image: image6.wmf]x

P = 5.8

Data Set 7.11

rb(10) = 0.401, p > 0.01 where 
[image: image7.wmf]x

F = 63.0 and 
[image: image8.wmf]x

P = 82.6

Data Set 8.1

χ2(3) = 10.00, p < 0.05

Data Set 8.3

χ2(3) = 33.429, p < 0.05

Data Set 8.5

χ2(4) = 6.215, p > 0.01

Data Set 8.7

χ2(6) = 0.002, p > 0.05

Data Set 8.9

One-sided Exact Significance, p = 0.262

Data Set 8.11

One-sided Exact Significance, p = 0.197

Data Set 9.1

R = 7, n1 = 6, n2 = 7, p > 0.05

Data Set 9.3

R = 9, n1 = 7, n2 = 6, p > 0.05
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